S 3.2 (Cay
ot Wﬁoﬂ- TW

Qecall’ o The Biest-ordur \inear @08 \J“f Q(x\j: g}(}d,}ha,s a_
unigwe Sl on e intvel T in wada lodth P F AR
Gontirneuss ¥ which  confains X, .

'ﬂ (XO):" je

e A 2cond oBar e odE has fae %,Q_N@\ X-},(W\
\3“+ P("\H' £y mstx).
°W,ugmﬁamofj\&3,_ W e fnchat

Wi Ya) = dak J ?f) :
jl ‘jz
—
Goal’ ® Skl on e‘?"‘w‘ to Gl Lo s-ecovxol ooy
\ireaX  ODE - = o

@) Discuss more Qfoekr‘r‘\é of the Winskion .

= =
Tam 3.2.1 fexiSerce & Unigueress Tam 4o 2 crohf>
Lineal W

—

Considac Hhe TP U“* P(X)ﬂ‘ {"%(K‘ j: j(x) / jC(,);yu . 3'0(0)390/ .
wWhare 3, 5(, 3 ant Cantineas  on an ogen wewel T
amhtvcwﬁ Xy, Than s TP has < unig e Soluhion

Y 4 s Y exists '\'\nfoos%axk I .



Ex. Find twe \omjﬁ‘{‘ kel In Baidh U\V“\frw Selufint

-

4o (X"—-?)X)S"+X%" (K'\'?J) j:o, ljcﬂa 2., \J‘(\); [ . iS Cof'\'o\f\

lo exiSt -
X {

L '\L.‘ \( ( ;Z . _
7 et ¥ T X Y(X'%)‘j bc) \J“) (
¢ g 3

° 3 Gent. eLe ‘waM

. o . Rr xzto, x¥ 31 (= 0)ule3lu3e)
. 5 Ct fur  XFEO x+3 ! (-0 Vv (93) v(3,00)
)

. Xot j. =3 )(o n
Yty ke .

2y Ham, longest kel T5 (09).

Cx'. Sonu dlredhans as P for Tw

t
*12, §3.2 ! (X-l) ‘j“"' 51 -\-(C)('Z—)»tay\x)‘é -0 3(3) =}, lj (3)22

Qe on\ke. ooy (2MHenx -
Y vy ¢ e —:j O

N (-
i 3 9 Ang
g e e 31

(-e fl—\ (e (AO)

e D Cont @ XEZ:

QICM“'@ X+, X¥E ’g Lor  odo mhjus N
- v (=37, n’U (.2., 7/ (ﬂ Z)u(z,l"’)u...

5 e ¥0=3 W — /\\
s wnieve|




e Moy, e Sk Yo o gereml fumub for f@n/\dl‘nj Wonskians .

Aae\'S Theerey

3 Gu Yo O sduflons Y e ode
\3" + p(Xllj' 4 gf(xhj =0,

WC%. Ay/)= C -« exp [’ Spfk? OlK:(
hene ¢ s =~ Conseant d.Lpe.mUr\j on lj, g ‘j;_ .

e

Cx ' Constoal obE

w, - \ _ B
§3.2.4 34 (- Y 4 2x‘j-1'o((d+l\x,j~.o @ = anst.

T fied wrm\s\ﬁf““ of two sclutions bo e oDE wy( ©

e
sAuhya v
e W_ = \ & () _
LA e B x ©
P ()
‘.:\~)(Z
..2_)( W
By Yo' by Y= CUPG o Ob‘) dn = -2
= Cexp (-\-n\\-kz\)
-\
= ¢. |1-x*|

2 =
= C,_ (\")(‘ ) oL CZ_ = *C dq). onN
e lrer || MR

-~ C2 quent. has +-20 of ...c0

I~ %2




EX- i fiqh ane Aifterantie®™, dun what s w(\ej,(—‘\,\\?

el Py )
W(F‘J'W) - M(ﬂt 3{:\ fh' chf!

- ;5 (Enlen€") = Fn(£g'44F)
' + SRS thgte - Egne
- FL(T’\ \"‘3‘\
= £ ey (36 »\‘5
= £ W (qh).
ex. Goeay )4ty =6

%35. = 90‘\”5“ v P\(_Y\S! \—6(&\‘:] =

R(K) u= gx)
=7 \/\)(\6\ ,Us:,) =¢ @KPL ?(&‘ 0\X> du = p\(k\dy
e exp L“ e do)

¢ --C)G{)(\V\\\A\-\)
¢ = G
\ ?(x)\ o6 whene ¢, (onsi.



